
SXUface AUea aQd NeWV 

TR fLQd WKe aPRXQW Rf PaWeULaO Qeeded WR PaNe \RXU WKUee dLPeQVLRQaO (3D) VKLSSLQJ cRQWaLQeU, 
\RX ZLOO Qeed WR fLQd WKe ​VXrface area​ Rf WKe cRQWaLQeU.  

TKe ​VXUface aUea​ Rf a VROLd fLJXUe LV WKe VXP Rf WKe aUeaV Rf aOO WKe faceV RU VXUfaceV WKaW 
eQcORVe WKe VROLd. 

OQe Za\ WR fLQd WKe VXUface aUea Rf aQ RbMecW RU a cRQWaLQeU LV WR XVe ​neWV​. A QeW LV a 2D SaWWeUQ 
WKaW caQ be fROded WR cUeaWe a 3D RbMecW. HRZ caQ WKe QeW beORZ be fROded WR cUeaWe a cXbe? 
YRX caQ fROd WKe QeW aORQJ aQ\ dRWWed​ ​bOacN OLQe. 

IPaJLQe KRZ WKe QeW RQ WKe ULJKW cRXOd fROd LQWR WKe cXbe RQ WKe OefW. NRWLce KRZ eacK face Rf WKe 
cXbe LV VKRZQ LQ WKe QeW. HRZ cRXOd WKe QeW KeOS \RX fLQd WKe VXUface aUea Rf WKe cXbe? 

TKeUe aUe dLffeUeQW VKaSeV WKaW caQ be XVed WR PaNe PRVW VKaSeV. UVe ​WKLV UeVRXUce ​ WR e[SORUe 
dLffeUeQW QeWV fRU cXbeV. 
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UVLQg NeWV WR CaOcXOaWe WKe SXUface AUea Rf a CXbe 
TKe SLcWXUe beORZ VKRZV a cXbe aQd LWV QeW. FLQd WKe aUea Rf eacK face Rf WKe cXbe. TKeQ, add 
WKRVe aUeaV WRJeWKeU WR fLQd WKe VXUface aUea Rf WKe cXbe.  

AUea Rf eacK face = _____________________ 

SXUface aUea Rf WKe cXbe = _______________ 

UVLQg NeWV WR CaOcXOaWe WKe SXUface AUea Rf a RecWaQgXOaU PULVP 
A UecWaQJXOaU SULVP aQd LWV QeW aUe VKRZQ beORZ. LabeO WKe dLPeQVLRQV Rf WKe QeW. TKeQ, XVe WKe 
QeW WR fLQd WKe VXUface aUea Rf WKe UecWaQJXOaU SULVP.  

SXUface AUea Rf WKe RecWaQJXOaU PULVP: __________________________ 
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UVLQg NeWV WR CaOcXOaWe WKe SXUface AUea Rf a RLgKW TULaQgXOaU PULVP 
DUaZ a QeW WKaW cRXOd be XVed WR PaNe WKe ULJKW WULaQJXOaU SULVP VKRZQ beORZ. TKeQ, XVe WKe 
QeW WR fLQd LWV VXUface aUea. RePePbeU​,​ WKe fRUPXOa ​ ​caQ be XVed WR fLQd WKe aUea RfbA = 2

1 · K  
WKe WULaQJXOaU faceV. 

SXUface AUea Rf WKe RLJKW TULaQJXOaU PULVP: ________________________ 
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